AE-F 2/2015

SUBJECT : COMPUTER SCIENCE (SET-T)

Time : 3 Hrs . ( MM : 70
General Instructions:

(i)  All questions are compulsory.

(ii) Programming Language C++.

Q1. (a)
(b)

(c)

(d)

(e)
(0
Q2. (a)
(b)

(c)

(d)

Q3. (a)

Distinguish between Software and Hardware.,  [2]

Differentiate between input devices and output
devices? Give two examples for e;lch, (2]

Convert the following: [3]

© (i) (77726) , to hexa decimal.

(i) (10101 10101]3 to decimal.
(iii) (435(:‘.?]l o to octal
Find the 8 bits two's complement form of the

following decimal number. [1]
(- 95’:0

What is impact printer? [1]
Define robustness. (1]
Explain any two operating system. (2]

What are keywords? Can keywords be used as
identifiers? Give any two examples of identifier and

- keyword. . 18]

Write the declaration of the following:  [1+1+2=4]

()  aconstant integer.

(i) a array consist of 10 float numbers.

(i a customer structure that holds customer
number, name, address and gender.

What are the advantages of [loating point number

over integer. (1]

Write a program in C++ to check whether a string is

palindrome or not. (2]

L]

(1)



Q4.

(b)

(c)

(a)

(b)

(c)

(i)  Define polymerphism with an example.  [2]
(i) What is the procedural programming

paradigm. [1]
Explain the following data types with an example:
. [3]
()  Union (i) Class

(ii) Enumerator
Differentiate between run time error and logical érror.

(2]
Write a program to find number of even and odd
numbers from the given set of n numbers. (3]
int i= 10; [4]

while (++i<=20)

(
cout<<i<<endl;
IEEH

l

() How many time the above loop will execute?
Explain.

(i) Convert the above code using ‘for loop".

Observe the following program and find out, which
option or options out of (i) to (iv) will be expected

output(s) from the program? J ustify your answer.
(2]

#include<iostream.h>
#include<stdlib.h>
void main()

{
char col[][10}=["Rose", White", Yellow","Green"};

randomize();
for(int i=0; {<4i i++)
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(d)

for (int K=0:Text [K]!="\0' :K++)

[

il (Text[K] >='F" && Text{K] <='L)
Text[K]=tolower(Text(K)); .
else if (Text|K]=="E" | | Text|K|=='¢)
Text[K|=C;

else if (K%2==0)
Text[K]=toupper(Text|K]):

else

Text [K) =Text| K-1J;

}

|

void main( )

[
char oldText| |= "Click@CAreeR2015" :

Changelt {oldText, %)
cout <<"New TEXT:"<<oldText<<endl:
}
Find output of the following program segment: [2]
inta=5;
void demo(int x, int y, int &2z)
{ a += X4V,
Z = aty.
y =X
couteax<<* ey ' cez<<endl:
J
void main()
{ Inta=3,b=4;
demo(::a.a,b);
demo(::a.a,b);



